Name:

Relative Metric Mass

Independent Practice Worksheet 1

Directions: Circle the correct letter that best describes the weight of the picture.

A small bowl of cherries has a mass of about
a) 4kg
b) 2mg
c) 900g
d) 20mg

2)

4

A pineapple has a mass of about
a) 400kg
b) 60kg
c) 3kg
d) 99

3)

One sock has a mass of about
a) 5mg
b) 1lkg
c) 30g
d) 9000mg

One school bus has a mass of about
a) 40mg
b) 14,000kg
c) 14,0009
d) 50,000kg

5)

=,

1 adult sized cowboy hat has a mass of
about

a) 5kg

b) 45mg

c) 500kg

d) 45¢g

One regular sized lock has a mass of about
a) 30mg

b) 3kg

c) 3009

d) 30g

7)
f
@
A walnut has a mass of about
a) 30g
b) 300mg
c) 1lkg
d) 3g

8)
2
A book of matches has a mass of about
a) 10kg
b) 1,000g
c) 50g
d) 1kg




